EARAROBEEIERT — 2 N— IBISH —F

20165F8A7H (B) 2m#B4H

m LIS—KS G3 #5%3% (B (5% Ef (xwlw | lmEmml - |5 ) wom s
[A&4] 1 7 : 40,000,000 § ~ 2 7% :16,000,000 @ . 3 7 :10,000,000 @ 4 & :6,000,000 @ 5 j& : 4,000,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
Y BEIN 4 3 | FEEX 1:50.6 5-5-4-4 | 36.6|103.9| 2 468 | HORETESL (i)
1567V >Yz>h 56.0 ) o) |EEEHI LY
R:xA1=gr7—2 BRI Y1 J—=HTp—L
= , = 5 He :50. -1-1- . . BHEH (ER)
2 5 FA454TLAT 4 3 gs.o 1(75(1):? 1-1-1-1 | 37.3]103.9| 1 (4_932) e
L7 RvfY¥<y 72 B:r47+0-LI FE EF 45035
o 4 3 | HIDWHKE 1:50.9 13-13-9-7 [ 36.4 [ 101.1| 6 500 | AAMREERS (FH)
30111 LA—0 56.0 2 (+6) #E%%
A:Bernardini B:HI&Z7LI—4% HET7—L
o s 4 3 | AEEE 1:51.0 2-2-2-2 | 37.4|100.2 | 4 502 | iBEKAE (ER)
4/5]7|EY FEKRZ 56.0 1/2) 2) SEE—
R:d—IRAqO— B:EIL7OIZRCX & RS
S FLEBAIT :51. —3-4- . . ME#- (E#
5 NEETL 3 LERT 1(551)9 3-3-4-5 [37.9| 92.2 | 13 (5_080) pea
L:N—HNE B:IIVT 1> RIS
> S 43 | SEXH 1:52.3 5-6-6-7 |38.1| 88.7 | 5 462 | FALLRHE (58)
68|12 ¥ TRIVNYT 6.0 2 1/2) © W) #5359y k95T 57T
R:YZRE8—3I=24— B:HHFLLARa— EOHES
5 3 t 3 | M. FL-0 1:52. 8-9-9-11 | 37.8| 88.5 | 3 516 | iBAKAE (ER)
7 2| RTAML—=T g 56.0° (76) (+10) HEH
LNNVTSY BFRFCTA)R B
== O — 2 4 3 | SHZ 1:52.8 11-11-12-11| 37.8 | 83.9 | 10 | 518 |HEREIZ (k)
8 8 Z27—)b70O3I—-X 56.0 3) (+4) FATLANIST (#F)
R:v>NnNyg>h7r B:V—-T4—Ty K 17 I8
ARl .52, —11-11- . . ANBEAERL (353#)
9 9| 7+ —2VvF 3 i 1(*;525)9 11-11-11-10| 38.3 | 83.6 | 11 (4_626) net
R:T—0T74+—Z B:T74 AN, b J—YTr—LA
Sy 5 SH[E 4 3 | BEAT 1:52.9 8-8-6-9 |38.6| 83.9 | 8 434 | FEEfR— (GEA)
ofg|n|F-rr>Ea- 6.0 (7E) o) | ERET
R:x¥/ by THY B:7ZXay bED— NAK BAIA
= s ; 4 3 | AIBIEA 1:53.6 8-9-6-5 |39.4| 78.8 | 7 482 | HHET (BR)
1118l13| 77> E7TIN X 56.0 7 1) %EE%}II#(
L:hzxex) B:E17/NyYa> R B
o N KEFRIR : -3-2- FHILEA (FEX)
127110 2787 VK> H 3 2 1.(534).1 3-3-2-2 | 40.4| 76.1 | 12 (ﬁi) Pl
=W R7Va—l BNy IT72yY 1REE HR
S # 3 | BBl 1:55.0 7-6-12-13 [40.0 | 68.2 | 9 462 | HET (ER)
EH NEPZ: 6.0 ) o |l
R:IANZATINY B:7A—-FIK—L AAFRBEERASERBS
@ 71 L
) 49.9-37.3
NA> R4 L | 12.5-11.0-12.1-12.6-12.5-12.6-12.5-12.1-12.7
® I —F—@EBIERL
13=7r= 5-7(4,10) (6,12)3(2,11,13) (8,9) 1
2al=5F= 5-7(4,10)6-(3,12)11(2,13) (8,9)1
Gal=7r= 5-(7,10) (4,6) (11,12,13) (2,1)9-(3,8)
41—+ — 5-(7,10)6-(4,13) (12,1)11,9(2,8)-3
[ RN
B OB 6 270 714K 5-6 150H e & 4-5 230M &R 1-5-6 1,940M
% B 6 110 1-6 1,020 | | B & 5-6 260/ | | EE 6-5-1 6,040M
5 110 1-5 870M B H 6-5 580
1 360M

ABICOVWTRDTEEERROODE. TR LIV,




